

PROBABILISTIC DEGENERATE JINDALRAE AND JINDALRAE-STIRLING POLYNOMIALS OF THE SECOND KIND

WASEEM AHMAD KHAN, UGUR DURAN, AND NAEEM AHMAD

ABSTRACT. In recent studies, probabilistic forms of some special polynomials and numbers such as probabilistic Bernoulli, probabilistic Euler, probabilistic Bell, probabilistic Fubini, and probabilistic Stirling numbers and polynomials associated with random variables have been introduced and studied in detail. In this work, we consider a probabilistic form of the degenerate Jindalrae-Stirling polynomials of the second kind and a probabilistic form of the degenerate Jindalrae polynomials. Then, we derive some of their properties and formulas, including explicit expressions, symmetric identity, recurrence relations, and summation formulas. Moreover, we investigate diverse correlations with the probabilistic degenerate Stirling numbers of the second kind associated with T, the Stirling numbers of the first kind, the partial Bell polynomials, the derangement polynomials, the degenerate Bernoulli polynomials of the second kind, and the degenerate Euler polynomials. Finally, we consider probabilistic forms of the higher-order degenerate Bernoulli and Euler polynomials and then provide some properties and relations.

1. Introduction

Special functions have various importance in a good many areas of engineering, physics, mathematics, and other linked disciplines involving issues such as quantum mechanics, mathematical physics, functional analysis, numerical analysis, differential equations, and so on (cf. [1-22, 24-29]). In the family of special functions, the family of special polynomials also possesses intensive study fields. Recently, some probabilistic special polynomials (with their corresponding numbers) including probabilistic Bell, probabilistic Fubini, probabilistic Bernoulli, probabilistic Euler, and probabilistic Stirling polynomials (and numbers), are among the most studied families of special polynomials (cf. [1-3, 6-8, 15-17, 19, 21, 23, 26-29]). For example, probabilistic Stirling numbers of the second kind in [1-3], probabilistic degenerate Stirling polynomials of the second kind in [19], probabilistic Bell polynomials in [27], probabilistic degenerate Bell polynomials associated with random variables in [15], probabilistic degenerate central Bell polynomials in [7], probabilistic derangement polynomials in [17], probabilistic Bernoulli and Euler polynomials in [6, 16], probabilistic degenerate Bernoulli and degenerate Euler polynomials in [23], probabilistic type 2 poly-Bernoulli polynomials in [21], probabilistic Fubini polynomials in [26], probabilistic degenerate Fubini polynomials in [29] and probabilistic Bernstein polynomials in [8] have been considered and many of their relations and properties have

²⁰²⁰ Mathematics Subject Classification. 11B73, 11B83, 05A19.

Key words and phrases. Probabilistic Jindalrae polynomials, probabilistic Jindalrae-Stirling polynomials of the second kind, probabilistic degenerate Stirling polynomials of the second kind.

been examined and investigated. Motivated by these types of studies, here we consider a probabilistic degenerate Jindalrae-Stirling polynomials of the second kind and a probabilistic degenerate Jindalrae polynomials, and then we research their relations and properties. To do this, we first review some needed definitions and notations.

The Stirling numbers of the second kind ('second kind' is abbreviated by 's.k.') are defined, for $u \ge 0$ (see [1–3,5,12,18,19]) as

(1.1)
$$\sum_{\rho=u}^{\infty} u! S_2(\rho, u) \frac{z^{\rho}}{\rho!} = (e^z - 1)^u.$$

The Bell polynomials are provided by (see [11, 13, 15, 22, 24, 27])

(1.2)
$$\sum_{\rho=0}^{\infty} \phi_{\rho}(y) \frac{z^{\rho}}{\rho!} = e^{y(e^z - 1)}.$$

The corresponding numbers of $\phi_{\rho}(y)$ are derived by taking y = 1, namely $\phi_{\rho} := \phi_{\rho}(1)$.

For $\lambda \in \mathbb{R}$, the degenerate model of the exponential function is given by (cf. [5,7,9-15,19,20,22,23,29])

(1.3)
$$e_{\lambda}^{y}(z) = \sum_{\rho=0}^{\infty} (y)_{\rho,\lambda} \frac{z^{\rho}}{\rho!} = (1+\lambda z)^{\frac{y}{\lambda}},$$

where $(y)_{\rho,\lambda} = y(y-\lambda)(y-2\lambda)\dots(y-(\rho-1)\lambda)$ for $\rho \geq 1$, with $(y)_{0,\lambda} = 1$. Note that $e_{\lambda}^{1}(z) := e_{\lambda}(z) = (1+\lambda z)^{\frac{1}{\lambda}} = \sum_{\rho=0}^{\infty} (1)_{\rho,\lambda} \frac{z^{\rho}}{\rho!}$. The function $\log_{\lambda}(z)$ is defined to be the compositional inverse of $e_{\lambda}(z)$, which is termed the degenerate logarithm function, fulfilling $e_{\lambda}(\log_{\lambda} z) = \log_{\lambda}(e_{\lambda}(z)) = z$, provided as follows (see [6, 9, 21])

(1.4)
$$\log_{\lambda}(1+z) := \sum_{\rho=1}^{\infty} \lambda^{\rho-1}(1)_{\rho,\frac{1}{\lambda}} \frac{z^{\rho}}{\rho!} = \frac{1}{\lambda}((1+z)^{\lambda} - 1).$$

It is readily seen that $\lim_{\lambda \to 0} \log_{\lambda} z = \log z$.

The degenerate models of the Bernoulli and the Euler polynomials, defined by Leonard Carlitz [5], are provided as follows

(1.5)
$$\sum_{\rho=0}^{\infty} \beta_{\rho,\lambda}(y) \frac{z^{\rho}}{\rho!} = \frac{z e_{\lambda}^{y}(z)}{e_{\lambda}(z) - 1} \text{ and } \sum_{\rho=0}^{\infty} E_{\rho,\lambda}(y) \frac{z^{\rho}}{\rho!} = \frac{2 e_{\lambda}^{y}(z)}{e_{\lambda}(z) + 1}.$$

The corresponding numbers of $\beta_{\rho,\lambda}(y)$ and $E_{\rho,\lambda}(y)$ are derived by taking y=0, namely $\beta_{\rho,\lambda}:=\beta_{\rho,\lambda}(0)$ and $E_{\rho,\lambda}:=E_{\rho,\lambda}(0)$, respectively. Also, the classical Bernoulli and Euler polynomials are obtained when λ approaches to 0 as $\lim_{\lambda\to 0}\beta_{\rho,\lambda}(y)=B_{\rho}(y)$ and $\lim_{\lambda\to 0}E_{\rho,\lambda}(y)=E_{\rho}(y)$.

Also, the degenerate models of higher-order Bernoulli and the Euler polynomials are provided as follows (see [5, 6, 9, 10, 16, 23, 24])

$$\sum_{\rho=0}^{\infty} \beta_{\rho,\lambda}^{(\alpha)}(y) \frac{z^{\rho}}{\rho!} = e_{\lambda}^{y}(z) \left(\frac{z}{e_{\lambda}(z) - 1}\right)^{\alpha} \text{ and } \sum_{\rho=0}^{\infty} E_{\rho,\lambda}^{(\alpha)}(y) \frac{z^{\rho}}{\rho!} = e_{\lambda}^{y}(z) \left(\frac{2}{e_{\lambda}(z) + 1}\right)^{\alpha}.$$

The corresponding numbers of $\beta_{\rho,\lambda}^{(\alpha)}(y)$ and $E_{\rho,\lambda}^{(\alpha)}(y)$ are derived by taking y=0, namely $\beta_{\rho,\lambda}^{(\alpha)}:=\beta_{\rho,\lambda}^{(\alpha)}(0)$ and $E_{\rho,\lambda}^{(\alpha)}:=E_{\rho,\lambda}^{(\alpha)}(0)$, respectively. For $\alpha\in\mathbb{N}$, the degenerate higher-order model of Bernoulli polynomials of the

s.k. is defined by (cf. [10])

(1.7)
$$\sum_{\alpha=0}^{\infty} b_{\rho,\lambda}^{(\alpha)}(y) \frac{z^{\rho}}{\rho!} = \left(\frac{z}{\log_{\lambda}(1+z)}\right)^{\alpha} (1+z)^{y}.$$

The corresponding numbers of $b_{\rho,\lambda}^{(\alpha)}(y)$ are derived by taking y=0, namely $b_{\rho,\lambda}^{(\alpha)}:=$ $b_{\rho,\lambda}^{(\alpha)}(0).$ The degenerate model of Bernoulli polynomials of the s.k. is provided as (see [10])

(1.8)
$$\sum_{\rho=0}^{\infty} b_{\rho,\lambda}(y) \frac{z^{\rho}}{\rho!} = \frac{z(1+z)^{y}}{\log_{\lambda}(1+z)}.$$

The corresponding numbers of $b_{\rho,\lambda}(y)$ are derived by taking y=0, namely $b_{\rho,\lambda}:=$

The degenerate Stirling numbers of the s.k. are defined by (see [5, 12, 18])

(1.9)
$$\sum_{j=u}^{\infty} S_{2,\lambda}(j,u) \frac{z^j}{j!} = \frac{(e_{\lambda}(z)-1)^u}{u!} \ (u \ge 0).$$

The fully degenerate model of Bell polynomials of the s.k. is defined by (see [11, 13, 22]

(1.10)
$$\sum_{\rho=0}^{\infty} B_{\rho,\lambda}^*(y) \frac{z^{\rho}}{\rho!} = e_{\lambda}^y (e_{\lambda}(z) - 1),$$

satisfying the following relation

$$B_{\rho,\lambda}^*(y) = \sum_{n=0}^{\rho} (y)_{u,\lambda} S_{2,\lambda}(\rho, u) \ (\rho \ge 0).$$

The corresponding numbers of $B_{\rho,\lambda}^*(y)$ are derived by taking y=1, namely $B_{\rho,\lambda}^*=$ $B_{\rho,\lambda}^*(1)$.

The degenerate model of derangement polynomials $d_{\rho,\lambda}^{(\alpha)}(y)$ of order $\alpha \in \mathbb{N}$ is defined by (see [20])

(1.11)
$$\sum_{r=0}^{\infty} d_{\rho,\lambda}^{(\alpha)}(y) \frac{z^{\rho}}{\rho!} = \frac{e_{\lambda}^{y-1}(z)}{(1-z)^{\alpha}}.$$

The corresponding numbers of $d_{\rho,\lambda}^{(\alpha)}(y)$ are derived by taking y=1, namely $d_{\rho,\lambda}^{(\alpha)}=d_{\rho,\lambda}^{(\alpha)}(1)$.

The degenerate form of the derangement polynomials $d_{\rho,\lambda}(y)$ is defined by (see [20])

(1.12)
$$\sum_{\rho=0}^{\infty} d_{\rho,\lambda}(y) \frac{z^{\rho}}{\rho!} = \frac{e_{\lambda}^{y-1}(z)}{1-z}.$$

For $u \geq 0$, the partial Bell polynomials are provided by (see [11])

(1.13)
$$\sum_{\rho=u}^{\infty} B_{\rho,u}(y_1, y_2, \dots, y_{\rho-u+1}) \frac{z^{\rho}}{\rho!} = \frac{1}{u!} \left(\sum_{i=1}^{\infty} y_i \frac{z^i}{i!} \right)^u,$$

which yields

$$(1.14) B_{\rho,u}(y_1, y_2, \dots, y_{\rho-u+1}) = \sum_{\substack{l_1+l_2+\dots+l_{\rho-u+1}=u\\l_1+2l_2+\dots+(\rho-u+1)l_{\rho-u+1}=\rho}} \frac{\rho!}{l_1!l_2!\dots l_{\rho-u+1}!} \times (y_1)^{l_1} \left(\frac{y_2}{2}\right)^{l_2} \dots \left(\frac{y_{\rho-u+1}}{(\rho-u+1)!}\right)^{l_{\rho-u+1}}.$$

For $u \geq 0$, the degenerate model of Jindalrae-Stirling numbers of the s.k. is given by (cf. [4])

(1.15)
$$\sum_{\rho=u}^{\infty} u! S_{J,\lambda}^{(2)}(\rho, u) \frac{z^{\rho}}{\rho!} = (e_{\lambda}(e_{\lambda}(z) - 1) - 1)^{u}.$$

The degenerate model of Jindalrae polynomials is provided (see [4]) as follows

(1.16)
$$\sum_{\rho=0}^{\infty} J_{\rho,\lambda}(y) \frac{z^{\rho}}{\rho!} = e_{\lambda}^{y} (e_{\lambda}(e_{\lambda}(z) - 1) - 1)).$$

When y = 1, $J_{\rho,\lambda} := J_{\rho,\lambda}(1)$ are called the Jindalrae numbers.

Let T be a random variable ('random variable' is abbreviated by 'r.v'). The moment generating function (abbreviated by 'm.g.f.') of T (see [1–3,6–8,15–17,19, 21,23,25–29]) is given by

(1.17)
$$E[e^{zT}] = \sum_{\rho=0}^{\infty} E[T^{\rho}] \frac{z^{\rho}}{\rho!}, \ (0 < |z| < \alpha).$$

Assume that $(T_j)_{j\geq 1}$ be a sequence of mutually independent copies of the r.v. T, and $S_u = T_1 + T_2 + \cdots + T_u$ for $u \in \mathbb{N}$ with $S_0 = 0$. The probabilistic degenerate Stirling numbers (denoted by $S_{2,\lambda}^T(\rho,u)$) of the s.k. related to r.v. T are provided as follows (see [1–3])

(1.18)
$$S_{2,\lambda}^T(\rho,u) = \frac{1}{u!} \sum_{j=0}^u \binom{u}{j} (-1)^{u-j} E[(S_j)_{\rho,\lambda}], \ (\rho \ge u \ge 0),$$

which is equivalent to (see [1–3])

(1.19)
$$E[(S_u)_{\rho,\lambda}] = \sum_{i=0}^{u} {u \choose j} j! S_{2,\lambda}^T(\rho, u).$$

The generating function of $S_{2,\lambda}^T(\rho,u)$ is provided as follows

(1.20)
$$\sum_{n=u}^{\infty} S_{2,\lambda}^{T}(\rho, u) \frac{z^{\rho}}{\rho!} = \frac{\left(E[e_{\lambda}^{T}(z)] - 1\right)^{u}}{u!}.$$

In the case T=1, the numbers $S_{2,\lambda}^T(\rho,u)$ become the numbers $S_{2,\lambda}(\rho,u)$ in (1.9). We abbreviate the probabilistic degenerate Stirling numbers of the s.k. as the PDSNSK numbers. When $\lambda \to 0$, the numbers $S_{2,\lambda}^T(\rho,u)$ become the probabilistic Stirling numbers of the s.k. $S_2^T(\rho,u)$ given by

(1.21)
$$\sum_{\rho=u}^{\infty} S_2^T(\rho, u) \frac{z^{\rho}}{\rho!} = \frac{\left(E[e^{zT}] - 1\right)^u}{u!}.$$

The probabilistic degenerate model of Stirling polynomials of the s.k. associated with the r.v. T is considered by (see [19])

(1.22)
$$\sum_{\rho=u}^{\infty} S_{2,\lambda}^{T}(\rho, u|y) \frac{z^{\rho}}{\rho!} = \frac{e_{\lambda}^{y}(z) \left(E[e_{\lambda}^{T}(z)] - 1\right)^{u}}{u!}.$$

When y = 0, the polynomials $S_{2,\lambda}^T(\rho, u|y)$ reduces to the polynomials $S_{2,\lambda}^T(\rho, u)$ in (1.20).

The probabilistic degenerate model of Bell polynomials $\phi_{\rho,\lambda}^T(y)$ associated with $r.v.\ T$ is defined as follows (see [15])

(1.23)
$$\sum_{\rho=0}^{\infty} \phi_{\rho,\lambda}^{T}(y) \frac{z^{\rho}}{\rho!} = e^{y(E[e_{\lambda}^{T}(z)]-1)}.$$

In the case $\lambda \to 0$, the polynomials $\phi_{\rho,\lambda}^T(y)$ become the probabilistic Bell polynomials $\phi_{\rho}^T(y)$ associated with r.v. T given by (see [15])

(1.24)
$$\sum_{\rho=0}^{\infty} \phi_{\rho}^{T}(y) \frac{z^{\rho}}{\rho!} = e^{y(E[e^{zT}]-1)}.$$

The corresponding numbers of $\phi_{\rho}^{T}(y)$ are derived by taking y=1, namely $\phi_{\rho}^{T}:=\phi_{\rho}^{T}(1)$. When T=1, the polynomials $\phi_{\rho,\lambda}^{T}(y)$ becomes the degenerate Bell polynomials $\phi_{\rho,\lambda}(y)$ provided by

$$\sum_{j=0}^{\infty} \phi_{\rho,\lambda}(y) \frac{z^{\rho}}{\rho!} = e^{y(e_{\lambda}(z)-1)}.$$

We see from (1.20) and (1.23) that

$$\phi_{\rho,\lambda}^{T}(y) = \sum_{u=0}^{\rho} S_{2,\lambda}^{T}(\rho, u) y^{u}, \ (\rho \ge 0).$$

The probabilistic fully degenerate model of Bell polynomials of the s.k. associated with r.v. T which are given by

(1.25)
$$\sum_{\rho=0}^{\infty} \mathbb{B}_{\rho,\lambda}^{(*,T)}(y) \frac{z^{\rho}}{\rho!} = e_{\lambda}^{y}(E[e_{\lambda}^{T}(z)] - 1).$$

For T=1, we have $\mathbb{B}_{\rho,\lambda}^{(*,T)}(y)=\mathbb{B}_{\rho,\lambda}^*(y)$ in (1.10). The corresponding numbers of $\mathbb{B}_{\rho,\lambda}^{(*,T)}(y)$ are derived by taking y=1, namely $\mathbb{B}_{\rho,\lambda}^{(*,T)}:=\mathbb{B}_{\rho,\lambda}^{(*,T)}(1)$. We observe that

$$\mathbb{B}_{\rho,\lambda}^{(*,T)}(y) = \sum_{u=0}^{\rho} (y)_{u,\lambda} S_{2,\lambda}^{T}(\rho, u).$$

The probabilistic degenerate model of Fubini polynomials associated with r.v. T are defined by (cf. [29])

(1.26)
$$\sum_{\rho=0}^{\infty} F_{\rho,\lambda}^{T}(y) \frac{z^{\rho}}{\rho!} = \frac{1}{1 - y \left(E[e_{\lambda}^{T}(z)] - 1 \right)}.$$

We abbreviate the probabilistic degenerate Fubini polynomials as the PDF polynomials. The corresponding numbers of $F_{\rho,\lambda}^T$ are derived by taking y=1, namely $F_{\rho,\lambda}^T = F_{\rho,\lambda}^T(1)$. From (1.20) and (1.26), we provide that

$$F_{\rho,\lambda}^T(y) = \sum_{u=0}^{\rho} y^u u! S_{2,\lambda}^T(\rho, u),$$

for $\rho \geq u \geq 0$. Some other detailed properties and relations of the PDF polynomials were derived in [29].

2. Probabilistic Degenerate Jindalrae and Jindalrae-Stirling POLYNOMIALS OF THE SECOND KIND

In this part, we introduce a probabilistic degenerate Jindalrae-Stirling polynomials of the s.k. and a probabilistic degenerate Jindalrae polynomials. Then, we derive some of their properties and formulas, including explicit expressions, recurrence relations, and summation formulas. Moreover, we investigate diverse correlations with the probabilistic degenerate Stirling numbers of the s.k. associated with T, the Stirling numbers of the first kind, the partial Bell polynomials, the derangement polynomials, the degenerate Bernoulli polynomials of the s.k. and the degenerate Euler polynomials.

Along the study, we suppose that T is a r.v. such that the m.g.f. of T is given as follows

$$E[e^{zT}] = \sum_{\rho=0}^{\infty} E[T^{\rho}] \frac{z^{\rho}}{\rho!}, \ (|z| < \alpha)$$

which exists for some $0 < \alpha$. We assume that

(2.1)
$$S_0 = 0 \text{ and } S_u = T_1 + T_2 + \dots + T_u \text{ for } u \in \mathbb{N}$$

where $(T_j)_{j\geq 1}$ is a sequence of mutually independent copies of the r.v. T.

Let

(2.2)
$$\frac{\left(e^{E[e^{zT}]-1}-1\right)^u}{u!} = \sum_{\rho=u}^{\infty} \mathfrak{T}_T(\rho,u) \frac{z^{\rho}}{\rho!}.$$

Theorem 2.1. For $\rho \ge \mu \ge 0$, we possess

(2.3)
$$\mathfrak{T}_{T}(\rho, u) = \sum_{u=u}^{\rho} S_{2}(\mu, u) S_{2}^{T}(\rho, \mu).$$

Proof. Utilizing (1.21) and substituting z by $E[e^{zT}] - 1$ in (1.1), we observe that

$$\frac{1}{u!} \left(e^{E[e^{zT}]-1} - 1 \right)^{u} = \sum_{\mu=u}^{\infty} S_{2}(\mu, u) \frac{1}{\mu!} (E[e^{zT}] - 1)^{\mu}
= \sum_{\mu=u}^{\infty} S_{2}(\mu, u) \sum_{\rho=\mu}^{\infty} S_{2}^{T}(\rho, \mu) \frac{z^{\rho}}{\rho!}
= \sum_{\rho=u}^{\infty} \left(\sum_{\mu=u}^{\rho} S_{2}(\mu, u) S_{2}^{T}(\rho, \mu) \right) \frac{z^{\rho}}{\rho!}.$$
(2.4)

As a consequence, by (2.2) and (2.4), we discover the asserted result (2.3).

Theorem 2.2. For $\rho_1, \ldots, \rho_u \geq 0$ with $\rho_1 + \rho_2 + \cdots + \rho_u = \rho$, we possess

$$\mathfrak{T}_{T}(\rho, u) = \frac{1}{u!} \sum_{\rho_{1} + \rho_{2} + \dots + \rho_{u} = \rho} {\rho \choose \rho_{1}, \dots, \rho_{u}} \phi_{\rho_{1}}^{T} \dots \phi_{\rho_{u}}^{T} = \sum_{\mu = u}^{\rho} S_{2}(\mu, u) S_{2}^{T}(\rho, \mu).$$

Proof. By utilizing (1.14) and (2.2), we possess

(2.5)
$$\frac{1}{u!} \left(e^{E[e^{zT}]-1} - 1 \right)^u = \frac{1}{u!} \left(\sum_{\rho=1}^{\infty} \phi_{\rho}^T \frac{z^{\rho}}{\rho!} \right)^u$$
$$= \frac{1}{u!} \sum_{\rho=u}^{\infty} \left(\sum_{\rho_1 + \rho_2 + \dots + \rho_u = \rho} \binom{\rho}{\rho_1, \dots, \rho_u} \phi_{\rho_1}^T \dots \phi_{\rho_u}^T \right) \frac{z^{\rho}}{\rho!}.$$

As a consequence, by (1.24) and (2.5), we discover the desired equation in the theorem.

We observe from (1.21), (1.24) and (2.2) that

$$\mathfrak{T}_T(\rho, 1) = \sum_{\mu=1}^{\rho} S_2^T(\rho, \mu) = \phi_{\rho}^T, \ (\rho \ge 1).$$

For $u \geq 0$, as an extension of the notion of the probabilistic degenerate Stirling polynomials of the s.k., we define a probabilistic degenerate Jindalrae-Stirling polynomials of the s.k. associated with r.v. T by

(2.6)
$$\frac{\left(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1\right)^{u}}{u!}e_{\lambda}^{y}\left(z\right)=\sum_{\rho=u}^{\infty}S_{J,\lambda}^{(2,T)}\left(\rho,u:y\right)\frac{z^{\rho}}{\rho!}.$$

The corresponding numbers of $S_{J,\lambda}^{(2,T)}(\rho, u:y)$ are derived by taking y=0, namely $S_{J,\lambda}^{(2,T)}(\rho,u)=S_{J,\lambda}^{(2,T)}(\rho,u:0)$ given as

(2.7)
$$\frac{\left(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1\right)^{u}}{u!} = \sum_{\rho=u}^{\infty} S_{J,\lambda}^{(2,T)}(\rho,u) \frac{z^{\rho}}{\rho!}.$$

We abbreviate the probabilistic degenerate Jindalrae-Stirling polynomials and numbers of the s.k. as the PDJSPSK polynomials and PDJSNSK numbers, respectively. We note from (2.7) that when T=1, the new polynomials and numbers $S_{J,\lambda}^{(2,T)}(\rho, u:y)$ reduce to the degenerate Jindalrae-Stirling polynomials and numbers of the s.k., provided (cf. [18]) by

$$\frac{\left(e_{\lambda}(e_{\lambda}(z)-1)-1\right)^{u}}{u!}e_{\lambda}^{y}\left(z\right)=\sum_{\rho=u}^{\infty}S_{J,\lambda}^{(2)}\left(\rho,u:y\right)\frac{z^{\rho}}{\rho!},$$

and

$$\frac{\left(e_{\lambda}(e_{\lambda}(z)-1)-1\right)^{u}}{u!} = \sum_{\rho=u}^{\infty} S_{J,\lambda}^{(2)}\left(\rho,u\right) \frac{z^{\rho}}{\rho!}.$$

Now, we analyze some properties and relations for the PDJSPSK polynomials and PDJSNSK numbers by the consecutive theorems (with their detailed proofs) given below. We first state a relation between the PDJSNSK numbers and the PDSNSK numbers.

Theorem 2.3. For $\rho \ge u \ge 0$, we possess

(2.8)
$$S_{J,\lambda}^{(2,T)}(\rho,u) = \sum_{\mu=u}^{\rho} S_{2,\lambda}(\mu,u) S_{2,\lambda}^{T}(\rho,\mu).$$

Proof. In view of (1.20) and (2.7), we acquire

$$\frac{1}{u!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right)^{u} = \sum_{\mu=u}^{\infty} S_{2,\lambda}(\mu, u) \sum_{\rho=\mu}^{\infty} S_{2,\lambda}^{T}(\rho, \mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=u}^{\infty} \left(\sum_{\mu=u}^{\rho} S_{2,\lambda}(\mu, u) S_{2,\lambda}^{T}(\rho, \mu) \right) \frac{z^{\rho}}{\rho!}.$$
(2.9)

As a consequence, by (2.7) and (2.9), we discover the equality in the theorem. \Box When u=1 in (2.7), we possess

$$\sum_{\rho=1}^{\infty} S_{j,\lambda}^{(2,T)}(\rho,1) \frac{z^{\rho}}{\rho!} = e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 = \sum_{\rho=0}^{\infty} \mathbb{B}_{\rho,\lambda}^{(*,T)} \frac{z^{\rho}}{\rho!} - 1 = \sum_{\rho=1}^{\infty} \mathbb{B}_{\rho,\lambda}^{(*,T)} \frac{z^{\rho}}{\rho!},$$

which gives the following relation.

Corollary 2.4. For $\rho \geq 1$, we possess

$$(2.10) S_{j,\lambda}^{(2,T)}(\rho,1) = \mathbb{B}_{\rho,\lambda}^{(*,T)} = \sum_{\mu=1}^{\rho} S_{2,\lambda}(\mu,1) S_{2,\lambda}^{T}(\rho,\mu) = \sum_{\mu=1}^{\rho} S_{2,\lambda}^{T}(\rho,\mu)(1)_{\mu,\lambda}.$$

A correlation between the PDJSPSK polynomials and PDJSNSK numbers is given as follows.

Theorem 2.5. For $\rho \ge \mu \ge 0$, we acquire

$$S_{J,\lambda}^{\left(2,T\right)}\left(\rho,u:y\right)=\sum_{\mu=0}^{\rho}\binom{\rho}{\mu}S_{J,\lambda}^{\left(2,T\right)}\left(\rho,\mu\right)\left(y\right)_{\rho-\mu,\lambda}.$$

Proof. By (2.6) and (2.7), we have

$$\begin{split} \sum_{\rho=u}^{\infty} S_{J,\lambda}^{(2,T)}\left(\rho,u:y\right) \frac{z^{\rho}}{\rho!} &= \frac{\left(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1\right)^{u}}{u!} e_{\lambda}^{y}\left(z\right) \\ &= \sum_{\rho=u}^{\infty} S_{J,\lambda}^{(2,T)}\left(\rho,u\right) \frac{z^{\rho}}{\rho!} \sum_{\rho=0}^{\infty} \left(y\right)_{\rho,\lambda} \frac{z^{\rho}}{\rho!} \\ &= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} \binom{\rho}{\mu} S_{J,\lambda}^{(2,T)}\left(\rho,\mu\right) \left(y\right)_{\rho-\mu,\lambda}\right) \frac{z^{\rho}}{\rho!}, \end{split}$$

which yields the claimed equality in the theorem.

Theorem 2.6. For $\rho_1, ..., \rho_u \ge 0$ with $\rho_1 + \rho_2 + ... + \rho_u = \rho$, we have (2.11)

$$S_{J,\lambda}^{(2,T)}(\rho,u) = \frac{1}{u!} \sum_{\rho_1 + \rho_2 + \dots + \rho_u = \rho} \binom{\rho}{\rho_1, \dots, \rho_u} \mathbb{B}_{\rho_1,\lambda}^{(*,T)} \dots \mathbb{B}_{\rho_u,\lambda}^{(*,T)} = \sum_{\mu = u}^{\rho} S_2(\mu,u) S_{2,\lambda}^T(\rho,\mu).$$

Proof. By utilizing (1.25) and (2.7), we have

$$\frac{1}{u!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right)^{u} = \frac{1}{u!} \left(\sum_{\rho=1}^{\infty} \mathbb{B}_{\rho_{1},\lambda}^{(*,T)} \frac{z^{\rho}}{\rho!} \right)^{u}$$

$$= \frac{1}{u!} \sum_{\rho=u}^{\infty} \left(\sum_{\rho_{1}+\rho_{2}+\dots+\rho_{u}=\rho} \binom{\rho}{\rho_{1},\dots,\rho_{u}} \mathbb{B}_{\rho_{1},\lambda}^{(*,T)} \dots \mathbb{B}_{\rho_{u},\lambda}^{(*,T)} \right) \frac{z^{\rho}}{\rho!}.$$

As a consequence, by (1.14) and (2.12), we establish the equality (2.11).

Note that
$$S_{J,\lambda}^{(2,T)}(\rho,1) = \sum_{\mu=1}^{\rho} S_2(\mu,1) S_{2,\lambda}^T(\rho,\mu)$$
 for $\rho \geq 1$.

Theorem 2.7. For $\rho \geq u \geq 0$, we have

(2.13)
$$S_{J,\lambda}^{(2,T)}(\rho,u) = \frac{1}{\mu!} \sum_{\mu=u}^{\rho} S_{2,\lambda}(\mu,u) \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} E[(S_j)_{\rho,\lambda}].$$

Proof. Substituting z by $E[e_{\lambda}^{T}(z)] - 1$ in (1.9), we have

$$\frac{1}{u!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right)^{u} = \sum_{\mu=u}^{\infty} S_{2,\lambda}(\mu, u) \frac{[E[e_{\lambda}^{T}(z)] - 1]^{\mu}}{\mu!}$$

$$= \sum_{\mu=u}^{\infty} S_{2,\lambda}(\mu, u) \frac{1}{\mu!} \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} (E[e_{\lambda}^{T}(z))^{j}$$

$$= \frac{1}{\mu!} \sum_{\mu=u}^{\rho} S_{2,\lambda}(\mu, u) \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} \underbrace{E[e_{\lambda}^{T}(z)] \dots E[e_{\lambda}^{T}(z)]}_{j-\text{times}}$$

$$= \frac{1}{\mu!} \sum_{\mu=u}^{\rho} S_{2,\lambda}(\mu, u) \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} E[e_{\lambda}^{T_{1}+\dots+T_{j}}(z)]$$

$$= \sum_{\rho=0}^{\infty} \left(\frac{1}{\mu!} \sum_{\mu=u}^{\rho} S_{2,\lambda}(\mu, u) \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} E[(T_{1} + T_{2} + \dots + T_{j})_{\rho,\lambda}] \right) \frac{z^{\rho}}{\rho!}$$

$$(2.14) = \sum_{\rho=0}^{\infty} \left(\frac{1}{\mu!} \sum_{\mu=u}^{\rho} S_{2,\lambda}(\mu, u) \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} E[(S_{j})_{\rho,\lambda}] \right) \frac{z^{\rho}}{\rho!}$$

(2.15)
$$\frac{1}{u!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right)^{u} = \sum_{\rho=u}^{\infty} S_{J,\lambda}^{(2,T)}(\rho, u) \frac{z^{\rho}}{\rho!}.$$

By (2.14) and (2.15), we discover the equality (2.13).

Now, we define the probabilistic degenerate Jindalrae polynomials associated with the r.v. T by

(2.16)
$$\sum_{\gamma=0}^{\infty} J_{\rho,\lambda}^{T}(y) \frac{z^{\rho}}{\rho!} = e_{\lambda}^{y} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right).$$

Note that T=1, then $J_{\rho,\lambda}^T(y)=J_{\rho,\lambda}(y)$ in (1.12). In the case y=1, $J_{\rho,\lambda}^T=J_{\rho,\lambda}^T(1)$ are called the probabilistic degenerate Jindalrae numbers associated with the r.v. T.

Theorem 2.8. For $\rho \ge u \ge 0$, we have

(2.17)
$$J_{\rho,\lambda}^{T}(y) = \sum_{u=0}^{\rho} (y)_{u,\lambda} S_{J,\lambda}^{(2,T)}(\rho, u).$$

Proof. We observe from (1.10) and (2.16) that

$$e_{\lambda}^{y} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right) = \sum_{u=0}^{\infty} (y)_{u,\lambda} \frac{1}{u!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right)^{u}$$

$$= \sum_{u=0}^{\infty} (y)_{u,\lambda} \sum_{\rho=u}^{\infty} S_{J,\lambda}^{(2,T)}(\rho, u) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{u=0}^{\rho} (y)_{u,\lambda} S_{J,\lambda}^{(2,T)}(\rho, u) \right) \frac{z^{\rho}}{\rho!}.$$
(2.18)

From (2.18), we discover the equality (2.17).

In particular, for y = 1, we have

(2.19)
$$J_{\rho,\lambda}^{T} = \sum_{u=0}^{\rho} (1)_{u,\lambda} S_{J,\lambda}^{(2,T)}(\rho, u).$$

Theorem 2.9. For $\rho \ge \mu \ge 0$, we possess

(2.20)
$$J_{\rho,\lambda}^{T}(y) = \sum_{\mu=0}^{\rho} B_{\mu,\lambda}^{*}(y) S_{2,\lambda}^{T}(\rho,\mu).$$

Proof. We observe from (2.16) that

$$e_{\lambda}^{y} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right) = \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \frac{1}{\mu!} (E[e_{\lambda}^{T}(z)] - 1)^{\mu}$$

$$= \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \sum_{\rho=\mu}^{\infty} S_{2,\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} B_{\mu,\lambda}^{*}(y) S_{2,\lambda}^{T}(\rho,\mu) \right) \frac{z^{\rho}}{\rho!}.$$
(2.21)

As a consequence, by (2.21), we discover the equality (2.20).

In particular, from (2.20), we have

(2.22)
$$J_{\rho,\lambda}^{T} = \sum_{\mu=0}^{\rho} B_{\mu,\lambda}^{*} S_{2,\lambda}^{T}(\rho,\mu).$$

Theorem 2.10. For $\rho \ge \mu \ge 0$, we have

(2.23)
$$J_{\rho,\lambda}^{T}(y) = \frac{1}{\mu!} \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} E[(S_{j})_{\rho,\lambda}].$$

Proof. We observe from (2.16) that

$$\begin{split} e_{\lambda}^{y} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right) &= \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \frac{1}{\mu!} (E[e_{\lambda}^{T}(z)] - 1)^{\mu} \\ &= \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \frac{1}{\mu!} \sum_{j=0}^{\mu} \binom{\mu}{j} (-1)^{\mu-j} (E[e_{\lambda}^{T}(z))^{j} \\ &= \frac{1}{\mu!} \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \sum_{j=0}^{\mu} \binom{\mu}{j} (-1)^{\mu-j} \underbrace{E[e_{\lambda}^{T}(z)] \dots E[e_{\lambda}^{T}(z)]}_{j-\text{times}} \\ &= \frac{1}{\mu!} \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \sum_{j=0}^{\mu} \binom{\mu}{j} (-1)^{\mu-j} E[e_{\lambda}^{T_{1}+\dots+T_{j}}(z)] \\ &= \sum_{\rho=0}^{\infty} \left(\frac{1}{\mu!} \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \sum_{j=0}^{\mu} \binom{\mu}{j} (-1)^{\mu-j} E[(T_{1} + T_{2} + \dots + T_{j})_{\rho,\lambda}] \right) \frac{z^{\rho}}{\rho!} \end{split}$$

$$(2.24) \qquad = \sum_{\rho=0}^{\infty} \left(\frac{1}{\mu!} \sum_{\mu=0}^{\infty} B_{\mu,\lambda}^{*}(y) \sum_{j=0}^{\mu} {\mu \choose j} (-1)^{\mu-j} E[(S_{j})_{\rho,\lambda}] \right) \frac{z^{\rho}}{\rho!}.$$

As a consequence, by (2.24), we discover the equality (2.23).

Theorem 2.11. For $\rho_1, \ldots, \rho_u \geq 0$ with $\rho_1 + \rho_2 + \cdots + \rho_u = \rho$, we have

$$J_{\rho,\lambda}^{T}(y) = \sum_{u=0}^{\rho} (y)_{u,\lambda} S_{J,\lambda}^{(2,T)}(\rho, u)$$

$$= \sum_{u=0}^{\rho} (y)_{u,\lambda} \frac{1}{u!} \sum_{\rho_1 + \rho_2 + \dots + \rho_u = \rho} {\rho \choose \rho_1, \dots, \rho_u} \mathbb{B}_{\rho_1,\lambda}^{(*,T)} \dots \mathbb{B}_{\rho_u,\lambda}^{(*,T)}.$$

Proof. By utilizing (1.14) and (1.25), we have

$$e_{\lambda}^{y}\left(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1\right) = \sum_{u=0}^{\infty}(y)_{u,\lambda}\frac{1}{u!}(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1)^{u}$$

$$= \sum_{u=0}^{\infty}(y)_{u,\lambda}\frac{1}{u!}\left(\sum_{\rho=1}^{\infty}\mathbb{B}_{\rho,\lambda}^{(*,T)}\frac{z^{\rho}}{\rho!}\right)^{u}$$

$$= \sum_{u=0}^{\infty}(y)_{u,\lambda}\frac{1}{u!}\sum_{\rho=u}^{\infty}\left(\sum_{\rho_{1}+\rho_{2}+\cdots+\rho_{u}=\rho}\binom{\rho}{\rho_{1},\ldots,\rho_{u}}\mathbb{B}_{\rho_{1},\lambda}^{(*,T)}\ldots\mathbb{B}_{\rho_{u},\lambda}^{(*,T)}\right)\frac{z^{\rho}}{\rho!}$$

$$(2.26)$$

As a consequence, by (1.14), (2.16), and (2.26), we find the equality (2.25).

Theorem 2.12. For $\rho \ge u \ge 0$, we have

$$J_{\rho,\lambda}^{T}(y_1 + y_2) = \sum_{u=0}^{\rho} \binom{\rho}{u} J_{u,\lambda}^{T}(y_1) J_{\rho-u,\lambda}^{T}(y_2) = \sum_{u=0}^{\rho} \binom{\rho}{u} J_{u,\lambda}^{T}(y_2) J_{\rho-u,\lambda}^{T}(y_1).$$

Proof. Now, we observe that

$$\sum_{\rho=0}^{\infty} J_{\rho,\lambda}^{T}(y_{1}+y_{2}) \frac{z^{\rho}}{\rho!} = e_{\lambda}^{(y_{1}+y_{2})} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1 \right)$$

$$= e_{\lambda}^{y_{1}} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1 \right) e_{\lambda}^{y_{2}} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1 \right)$$

$$= \sum_{u=0}^{\infty} J_{u,\lambda}^{T}(y_{1}) \frac{z^{u}}{u!} \sum_{\rho=0}^{\infty} J_{\rho,\lambda}^{T}(y_{2}) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{u=0}^{\rho} \binom{\rho}{u} J_{u,\lambda}^{T}(y_{1}) J_{\rho-u,\lambda}^{T}(y_{2}) \right) \frac{z^{\rho}}{\rho!}.$$

$$(2.27)$$

As a consequence, by (2.27), we discover the asserted equality in the theorem. \Box

Theorem 2.13. For $\rho \geq u \geq 0$, we have

(2.28)
$$\sum_{j=0}^{\rho-u} \binom{\rho}{u} u^{j}(y)_{j,\lambda} S_{J,\lambda}^{(2,T)}(\rho-u,j)$$

$$= B_{\rho,u} \left(J_{0,\lambda}^T(y), 2J_{1,\lambda}^T(y), 3J_{2,\lambda}^T(y), \dots, (\rho - u + 1)J_{\rho - u,\lambda}^T(y) \right).$$

Proof. We consider that

$$(2.29) ze_{\lambda}^{y} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right) = z \sum_{\rho=0}^{\infty} J_{\rho,\lambda}^{T}(y) \frac{z^{\rho}}{\rho!} = \sum_{\rho=1}^{\infty} \rho J_{\rho-1,\lambda}^{T}(y) \frac{z^{\rho}}{\rho!}.$$

By (2.16), we acquire

$$\left(\sum_{\rho=1}^{\infty} \rho J_{\rho-1,\lambda}^{T}(y) \frac{z^{\rho}}{\rho!}\right)^{u} = \left(ze_{\lambda}^{y} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1\right)\right)^{u}$$

$$= z^{u} \sum_{j=0}^{\infty} u^{j}(y)_{j,\lambda} \frac{1}{j!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1\right)^{j}$$

$$= z^{u} \sum_{j=0}^{\infty} u^{j}(y)_{j,\lambda} \sum_{\rho=j}^{\infty} S_{J,\lambda}^{(2,T)}(\rho,j) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{j=0}^{\rho} u^{j}(y)_{j,\lambda} S_{J,\lambda}^{(2,T)}(\rho,j)\right) \frac{z^{\rho+u}}{\rho!}$$

$$= \sum_{\rho=u}^{\infty} \left(\sum_{j=0}^{\rho-u} u^{j}(y)_{j,\lambda} S_{J,\lambda}^{(2,T)}(\rho-u,j)\right) \frac{z^{\rho}}{(\rho-u)!}$$

$$= \sum_{\rho=u}^{\infty} \left(\sum_{j=0}^{\rho-u} \binom{\rho}{u} u! u^{j}(y)_{j,\lambda} S_{J,\lambda}^{(2,T)}(\rho-u,j)\right) \frac{z^{\rho}}{\rho!}.$$
(2.30)

From (1.14) and (2.30), we note that

$$\sum_{\rho=u}^{\infty} \left(\sum_{j=0}^{\rho-u} \binom{\rho}{u} u^{j}(y)_{j,\lambda} S_{J,\lambda}^{(2,T)}(\rho-u,j) \right) \frac{z^{\rho}}{\rho!} = \frac{1}{u!} \left(\sum_{j=1}^{\infty} j J_{j-1,\lambda}^{T}(y) \frac{z^{j}}{j!} \right)^{u}$$

$$(2.31) \qquad = \sum_{\rho=u}^{\infty} B_{\rho,u} \left(J_{j-1,\lambda}^{T}(y), 2J_{1,\lambda}^{T}(y), 3J_{2,\lambda}^{T}(y), \dots, (\rho-u+1)J_{\rho-u,\lambda}^{T}(y) \right) \frac{z^{\rho}}{\rho!}.$$

As a consequence, by (2.31), we discover the equality (2.28).

Theorem 2.14. For $\rho \ge u \ge 0$, we have

$$B_{\rho,u}\left(J_{0,\lambda}^{T}(y), J_{1,\lambda}^{T}(y), J_{2,\lambda}^{T}(y), \dots, J_{\rho-u,\lambda}^{T}(y)\right) = \sum_{j=u}^{\rho} S_{2,\lambda}(j,u)(y)_{j,\lambda} S_{J,\lambda}^{(2,T)}(\rho,\mu).$$

Proof. We observe from (1.14) and (2.31) that

$$\sum_{\rho=u}^{\infty} B_{\rho,u} \left(J_{0,\lambda}^T(y), J_{2,\lambda}^T(y), J_{3,\lambda}^T(y), \dots, J_{\rho-u,\lambda}^T(y) \right) \frac{z^{\rho}}{\rho!}$$

$$= \frac{1}{u!} \left(\sum_{j=1}^{\infty} J_{j,\lambda}^{T}(y) \frac{z^{j}}{j!} \right)^{u}$$

$$= \frac{1}{u!} \left(e_{\lambda}^{y} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right) \right)^{u}$$

$$= \sum_{j=u}^{\infty} S_{2,\lambda}(j,u)(y)_{j,\lambda} \frac{1}{j!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right)^{j}$$

$$= \sum_{j=u}^{\infty} S_{2,\lambda}(j,u)(y)_{j,\lambda} \sum_{\rho=j}^{\infty} S_{J,\lambda}^{(2,T)}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=u}^{\infty} \left(\sum_{j=u}^{\rho} S_{2,\lambda}(j,u)(y)_{j,\lambda} S_{J,\lambda}^{(2,T)}(\rho,\mu) \right) \frac{z^{\rho}}{\rho!}.$$

$$(2.32)$$

By comparing the coefficients of z on both sides of (2.32), we discover the claimed equality in the theorem.

Theorem 2.15. For $\rho \geq u \geq 0$, we have

$$\sum_{u=\alpha}^{\rho} \binom{\rho}{u} S_{2,\lambda}^T(u,\alpha) \mathbb{B}_{\rho-u,\lambda}^{(*,T)}(y) = \sum_{u=\alpha}^{\rho} \sum_{u=0}^{\rho-u} \binom{\rho}{u} S_{J,\lambda}^{(2,T)}(u,\alpha) \beta_{\mu,\lambda}^{(\alpha)}(y) S_{2,\lambda}^T(\rho-u,\mu).$$

Proof. Substituting z by $E[e_{\lambda}^{T}(z)] - 1$ in (1.6), utilizing (1.20), (1.25), and (2.6), we acquire

$$\frac{(E[e_{\lambda}^{T}(z)] - 1)^{\alpha}}{(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1)^{\alpha}} e_{\lambda}^{y} \left(E[e_{\lambda}^{T}](z) - 1 \right) = \sum_{\mu=0}^{\infty} \beta_{\mu,\lambda}^{(\alpha)}(y) \frac{1}{\mu!} (E[e_{\lambda}^{T}(z)] - 1)^{\mu} \iff$$

$$\frac{(E[e_{\lambda}^{T}(z)] - 1)^{\alpha}}{\alpha!} e_{\lambda}^{y} \left(E[e_{\lambda}^{T}](z) - 1 \right)
= \frac{(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1)^{\alpha}}{\alpha!} \sum_{\mu=0}^{\infty} \beta_{\mu,\lambda}^{(\alpha)}(y) \sum_{\rho=\mu}^{\infty} S_{2,\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}
= \sum_{u=\alpha}^{\infty} S_{J,\lambda}^{(2,T)}(u,\alpha) \frac{z^{u}}{u!} \sum_{\rho=0}^{\infty} \sum_{\mu=0}^{\rho} \beta_{\mu,\lambda}^{(\alpha)}(y) S_{2,\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}
= \sum_{\rho=u}^{\infty} \left(\sum_{u=\alpha}^{\rho} \sum_{\mu=0}^{\rho-u} {\rho \choose u} S_{J,\lambda}^{(2,T)}(u,\alpha) \beta_{\mu,\lambda}^{(\alpha)}(y) S_{2,\lambda}^{T}(\rho-u,\mu) \right) \frac{z^{\rho}}{\rho!}$$
(2.33)

and

$$\frac{(E[e_{\lambda}^T(z)] - 1)^{\alpha}}{\alpha!} e_{\lambda}^y \left(E[e_{\lambda}^T](z) - 1 \right) = \sum_{u = \alpha}^{\infty} S_{2,\lambda}^T(u,\alpha) \frac{z^u}{u!} \sum_{\rho = 0}^{\infty} \mathbb{B}_{\rho,\lambda}^{(*,T)}(y) \frac{z^{\rho}}{\rho!}$$

PROBABILISTIC DEGENERATE JINDALRAE AND JINDALRAE-STIRLING POLYNOMIALS 955

$$= \sum_{\rho=u}^{\infty} \left(\sum_{u=\alpha}^{\rho} \binom{\rho}{u} S_{2,\lambda}^{T}(u,\alpha) \mathbb{B}_{\rho-u,\lambda}^{(*,T)}(y) \right) \frac{z^{\rho}}{\rho!}.$$

From (2.33) and (2.34), we discover the claimed equality in the theorem.

Theorem 2.16. For $\rho \ge u \ge 0$, we have

$$\sum_{u=\alpha}^{\rho} \binom{\rho}{u} S_{J,\lambda}^T(u,\alpha) \mathbb{B}_{\rho-u,\lambda}^{(*,T)}(y) = \sum_{u=\alpha}^{\rho} \sum_{\mu=0}^{\rho-u} \binom{\rho}{u} b_{\mu,\lambda}^{(\alpha)}(y) S_{J,\lambda}^T(\rho-u,\mu) S_{2,\lambda}^T(u,\alpha).$$

Proof. Substituting z by $e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1$ in (1.7), utilizing (1.20) and (1.25), we acquire

$$\left(\frac{e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1}{E[e_{\lambda}^{T}(z)]-1}\right)^{\alpha}e_{\lambda}^{y}\left(E[e_{\lambda}^{T}](z)-1\right) = \sum_{\mu=0}^{\infty}b_{\mu,\lambda}^{(\alpha)}(y)\frac{1}{\mu!}(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1)^{\mu} \iff$$

$$\frac{1}{\alpha!} \left(E[e_{\lambda}^{T}(z)] - 1 \right)^{\alpha} \sum_{\mu=0}^{\infty} b_{\mu,\lambda}^{(\alpha)}(y) \sum_{\rho=\mu}^{\infty} S_{J,\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{u=\alpha}^{\infty} S_{2,\lambda}^{T}(u,\alpha) \frac{z^{u}}{u!} \sum_{\rho=0}^{\infty} \sum_{\mu=0}^{\rho} b_{\mu,\lambda}^{(\alpha)}(y) S_{J,\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=u}^{\infty} \left(\sum_{u=\alpha}^{\rho} \sum_{\mu=0}^{\rho-u} \binom{\rho}{u} b_{\mu,\lambda}^{(\alpha)}(y) S_{J,\lambda}^{T}(\rho-u,\mu) S_{2,\lambda}^{T}(u,\alpha) \right) \frac{z^{\rho}}{\rho!}$$
(2.35)

and

$$\frac{1}{\alpha!} \left(e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1 \right)^{\alpha} e_{\lambda}^{y} \left(E[e_{\lambda}^{T}](z) - 1 \right) = \sum_{u=\alpha}^{\infty} S_{J,\lambda}^{T}(u,\alpha) \frac{z^{u}}{u!} \sum_{\rho=0}^{\infty} \mathbb{B}_{\rho,\lambda}^{(*,T)}(y) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=u}^{\infty} \left(\sum_{u=\alpha}^{\rho} \binom{\rho}{u} S_{J,\lambda}^{T}(u,\alpha) \mathbb{B}_{\rho-u,\lambda}^{(*,T)}(y) \right) \frac{z^{\rho}}{\rho!}.$$

As a consequence, by (2.35) and (2.36), we discover the claimed equality in the theorem.

Theorem 2.17. For $\rho \geq \mu \geq 0$, we have

$$\sum_{\mu=0}^{\rho} (y-1)_{\mu,\lambda} (-1)^{\mu} S_{2,-\lambda}^{T}(\rho,\mu) = \sum_{u=0}^{\rho} \sum_{\mu=0}^{\rho-u} \binom{\rho}{u} E[(S_{\alpha})_{u,-\lambda}] d_{\mu,\lambda}^{(\alpha)}(y) (-1)^{\mu} S_{2,-\lambda}^{T}(\rho-u,\mu).$$

Proof. Substituting z by $1 - E[e_{-\lambda}^T(z)]$ in (1.11), utilizing (1.20) and (1.25), we acquire

$$\frac{1}{[E[e_{-\lambda}^T(z)]]^{\alpha}} e_{\lambda}^{y-1} \left(1 - E[e_{-\lambda}^T(z)] \right) = \sum_{\mu=0}^{\infty} d_{\mu,\lambda}^{(\alpha)}(y) \frac{(-1)^{\mu}}{\mu!} (E[e_{-\lambda}^T(z)] - 1)^{\mu}$$

$$[E[e_{-\lambda}^{T}(z)]]^{\alpha} \sum_{\mu=0}^{\infty} d_{\mu,\lambda}^{(\alpha)}(y) \frac{(-1)^{\mu}}{\mu!} (E[e_{-\lambda}^{T}(z)] - 1)^{\mu}$$

$$= \sum_{u=0}^{\infty} E[(T_{1} + T_{2} + \dots + T_{\alpha})_{u,-\lambda}] \frac{z^{u}}{u!} \sum_{\mu=0}^{\infty} d_{\mu,\lambda}^{(\alpha)}(y) (-1)^{\mu} \sum_{\rho=\mu}^{\infty} S_{2,-\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{u=0}^{\infty} E[(T_{1} + T_{2} + \dots + T_{\alpha})_{u,-\lambda}] \frac{z^{u}}{u!} \sum_{\rho=0}^{\infty} \sum_{\mu=0}^{\rho} d_{\mu,\lambda}^{(\alpha)}(y) (-1)^{\mu} S_{2,-\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{u=0}^{\rho} \sum_{\mu=0}^{\rho-u} {\rho \choose u} E[(S_{\alpha})_{u,-\lambda}] d_{\mu,\lambda}^{(\alpha)}(y) (-1)^{\mu} S_{2,-\lambda}^{T}(\rho-u,\mu) \right) \frac{z^{\rho}}{\rho!}$$

$$(2.37)$$

$$e_{\lambda}^{y-1} \left(1 - E[e_{-\lambda}^{T}(z)] \right) = \sum_{\mu=0}^{\infty} (y-1)_{\mu,\lambda} \frac{1}{\mu!} (1 - E[e_{-\lambda}^{T}(z)])^{\mu}$$

$$= \sum_{\mu=0}^{\infty} (y-1)_{\mu,\lambda} (-1)^{\mu} \frac{1}{\mu!} (E[e_{-\lambda}^{T}(z)] - 1)^{\mu}$$

$$= \sum_{\mu=0}^{\infty} (y-1)_{\mu,\lambda} (-1)^{\mu} \sum_{\rho=\mu}^{\infty} S_{2,-\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} (y-1)_{\mu,\lambda} (-1)^{\mu} S_{2,-\lambda}^{T}(\rho,\mu) \right) \frac{z^{\rho}}{\rho!}.$$

$$(2.38)$$

From (2.37) and (2.38), we discover the claimed equality in the theorem.

Theorem 2.18. For $\rho \ge u \ge 0$, we have

$$\sum_{u=0}^{\rho} \sum_{\mu=0}^{u} \binom{\rho}{u} E_{\mu,\lambda}^{(\alpha)} S_{2,\lambda}^{T}(u,\mu) \mathbb{B}_{\rho-u,\lambda}^{(*,T)}(y) = \sum_{\mu=0}^{\rho} E_{\mu,\lambda}^{(\alpha)}(y) S_{2,\lambda}^{T}(\rho,\mu).$$

Proof. Substituting z by $E[e_{\lambda}^{T}(z)] - 1$ in (1.6), then we note from (1.21), (1.25), and (3.2) that

$$\left(\frac{2}{e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)+1}\right)^{\alpha} e_{\lambda}^{y} \left(E[e_{\lambda}^{T}(z)]-1\right) = \sum_{\mu=0}^{\infty} E_{\mu,\lambda}^{(\alpha)}(y) \frac{1}{\mu!} (E[e_{\lambda}^{T}(z)]-1)^{\mu}
= \sum_{\mu=0}^{\infty} E_{\mu,\lambda}^{(\alpha)}(y) \sum_{\rho=\mu}^{\infty} S_{2,\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}
= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} E_{\mu,\lambda}^{(\alpha)}(y) S_{2,\lambda}^{T}(\rho,\mu)\right) \frac{z^{\rho}}{\rho!}$$
(2.39)

and

$$\left(\frac{2}{e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)+1}\right)^{\alpha}e_{\lambda}^{y}\left(E[e_{\lambda}^{T}(z)]-1\right)$$

$$= \sum_{\mu=0}^{\infty} E_{\mu,\lambda}^{(\alpha)} \frac{1}{\mu!} (E[e_{\lambda}^{T}(z)] - 1)^{\mu} \sum_{\rho=0}^{\infty} \mathbb{B}_{\rho,\lambda}^{(*,T)}(y) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} E_{\mu,\lambda}^{(\alpha)} S_{2,\lambda}^{T}(\rho,\mu) \right) \frac{z^{\rho}}{\rho!} \left(\sum_{\rho=0}^{\infty} \mathbb{B}_{\rho,\lambda}^{(*,T)}(y) \frac{z^{\rho}}{\rho!} \right)$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{u=0}^{\rho} \sum_{\mu=0}^{u} \binom{\rho}{u} E_{\mu,\lambda}^{(\alpha)} S_{2,\lambda}^{T}(u,\mu) \mathbb{B}_{\rho-u,\lambda}^{(*,T)}(y) \right) \frac{z^{\rho}}{\rho!}.$$
(2.40)

As a consequence, by (2.39) and (2.40), we discover the claimed equality in the theorem.

3. Further remarks

In this part, the probabilistic higher-order degenerate Bernoulli and Euler polynomials are provided and some properties and relations are then provided.

The probabilistic forms of the higher-order degenerate Bernoulli and the Euler polynomials are introduced as follows:

$$(3.1) \quad \sum_{\rho=0}^{\infty} \beta_{\rho,\lambda}^{(\alpha,T)}(y) \frac{z^{\rho}}{\rho!} = \left(\frac{z}{E[e_{\lambda}^{T}(z)] - 1}\right)^{\alpha} e_{\lambda}^{y}(z)$$

$$\text{and } \sum_{\rho=0}^{\infty} E_{\rho,\lambda}^{(\alpha,T)}(y) \frac{z^{\rho}}{\rho!} = \left(\frac{2}{E[e_{\lambda}^{T}(z)] + 1}\right)^{\alpha} e_{\lambda}^{y}(z).$$

The corresponding numbers of $\beta_{\rho,\lambda}^{(\alpha,T)}(y)$ and $E_{\rho,\lambda}^{(\alpha,T)}(y)$ are derived by taking y=0, namely $\beta_{\rho,\lambda}^{(\alpha,T)}:=\beta_{\rho,\lambda}^{(\alpha,T)}(0)$ and $E_{\rho,\lambda}^{(\alpha,T)}:=E_{\rho,\lambda}^{(\alpha,T)}(0)$, respectively. Also, the probabilistic Bernoulli and Euler polynomials are obtained when $\alpha=1$ and λ approaches to 0 as $\lim_{\lambda\to 0}\beta_{\rho,\lambda}^{(\alpha,T)}(y)=\beta_{\rho}^T(y)$ and $\lim_{\lambda\to 0}E_{\rho,\lambda}^{(\alpha,T)}(y)=E_{\rho}^T(y)$, cf. [16, 23]. Moreover, when $\alpha=1$ in (3.1), we acquire the probabilistic forms of the degenerate Bernoulli and the Euler polynomials as follows

$$(3.2) \quad \sum_{\rho=0}^{\infty} \beta_{\rho,\lambda}^{T}(y) \frac{z^{\rho}}{\rho!} = \frac{z}{E[e_{\lambda}^{T}(z)] - 1} e_{\lambda}^{y}(z)$$
and
$$\sum_{\rho=0}^{\infty} E_{\rho,\lambda}^{(\alpha,T)}(y) \frac{z^{\rho}}{\rho!} = \frac{2}{E[e_{\lambda}^{T}(z)] + 1} e_{\lambda}^{y}(z).$$

The corresponding numbers of $\beta^T_{\rho,\lambda}(y)$ and $E^T_{\rho,\lambda}(y)$ are derived by taking y=0, namely $\beta^T_{\rho,\lambda}:=\beta^T_{\rho,\lambda}(0)$ and $E^T_{\rho,\lambda}:=E^T_{\rho,\lambda}(0)$, respectively. We observe from (3.1) that

$$\sum_{\alpha=0}^{\infty} \beta_{\rho,\lambda}^{(\alpha,T)}(y) \frac{z^{\rho}}{\rho!} = \left(\frac{z}{E[e_{\lambda}^{T}(z)] - 1}\right)^{\alpha} e_{\lambda}^{y}(z)$$

$$\begin{split} &= \sum_{\rho=u}^{\infty} \beta_{\rho,\lambda}^{(\alpha,T)} \frac{z^{\rho}}{\rho!} \sum_{\rho=0}^{\infty} (y)_{\rho,\lambda} \frac{z^{\rho}}{\rho!} \\ &= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} \binom{\rho}{\mu} \beta_{\mu,\lambda}^{(\alpha,T)} (y)_{\rho-\mu,\lambda} \right) \frac{z^{\rho}}{\rho!}, \end{split}$$

$$\begin{split} \sum_{\rho=0}^{\infty} E_{\rho,\lambda}^{(\alpha,T)}(y) \frac{z^{\rho}}{\rho!} &= \left(\frac{2}{E[e_{\lambda}^{T}(z)]+1}\right)^{\alpha} e_{\lambda}^{y}(z) \\ &= \sum_{\rho=u}^{\infty} E_{\rho,\lambda}^{(\alpha,T)} \frac{z^{\rho}}{\rho!} \sum_{\rho=0}^{\infty} (y)_{\rho,\lambda} \frac{z^{\rho}}{\rho!} \\ &= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} \binom{\rho}{\mu} E_{\mu,\lambda}^{(\alpha,T)}(y)_{\rho-\mu,\lambda}\right) \frac{z^{\rho}}{\rho!}, \end{split}$$

which yield

$$\beta_{\rho,\lambda}^{(\alpha,T)}(y) = \sum_{\mu=0}^{\rho} \binom{\rho}{\mu} \beta_{\mu,\lambda}^{(\alpha,T)}(y)_{\rho-\mu,\lambda}$$

and

$$E_{\rho,\lambda}^{(\alpha,T)}(y) = \sum_{\mu=0}^{\rho} \binom{\rho}{\mu} E_{\mu,\lambda}^{(\alpha,T)}(y)_{\rho-\mu,\lambda}.$$

We observe from (1.26) and (3.2) that

$$\sum_{\rho=0}^{\infty} F_{\rho,\lambda}^T(-\frac{1}{2}) \frac{z^{\rho}}{\rho!} = \frac{1}{1 + \frac{1}{2} \left(E[e_{\lambda}^T(z)] - 1 \right)} = \sum_{\rho=0}^{\infty} E_{\rho,\lambda}^T \frac{z^{\rho}}{\rho!},$$

which gives

$$F_{\rho,\lambda}^T(-\frac{1}{2}) = E_{\rho,\lambda}^T.$$

More properties of $\beta_{\rho,\lambda}^{(\alpha,T)}(y)$ and $E_{\rho,\lambda}^{(\alpha,T)}(y)$ can be examined similar to those of completed for $S_{J,\lambda}^{(2,T)}(\rho,u:y)$ in (2.6) and $J_{\rho,\lambda}^{T}(y)$ in (2.16). We here provide a correlation as follows.

Theorem 3.1. We possess, for $\rho \ge \mu \ge 0$, that (3.3)

$$\sum_{\mu=0}^{\rho} b_{\mu,\lambda}(y) S_{J,\lambda}^{T}(\rho,\mu) = (\rho+1) \sum_{\mu=0}^{\rho+1} \binom{\rho+1}{\mu} \frac{\mathbb{B}_{\mu,\lambda}^{(*,T)}(y+1) - \mathbb{B}_{\mu,\lambda}^{(*,T)}(y)}{\mu+1} \beta_{\rho+1-\mu,\lambda}^{T}.$$

Proof. Substituting z by $e_{\lambda}(E[e_{\lambda}^{T}](z)-1)-1$ in (1.8), then we note from (1.22), (1.25), and (3.2) that

$$\frac{e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1}{E[e_{\lambda}^{T}(z)]-1}e_{\lambda}^{y}\left(E[e_{\lambda}^{T}(z)]-1\right) = \sum_{\mu=0}^{\infty}b_{\mu,\lambda}(y)\frac{1}{\mu!}(e_{\lambda}(E[e_{\lambda}^{T}(z)]-1)-1)^{\mu}$$

$$= \sum_{\mu=0}^{\infty} b_{\mu,\lambda}(y) \sum_{\rho=\mu}^{\infty} S_{J,\lambda}^{T}(\rho,\mu) \frac{z^{\rho}}{\rho!}$$

$$= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} b_{\mu,\lambda}(y) S_{J,\lambda}^{T}(\rho,\mu) \right) \frac{z^{\rho}}{\rho!}$$
(3.4)

$$\frac{e_{\lambda}(E[e_{\lambda}^{T}(z)] - 1) - 1}{E[e_{\lambda}^{T}(z)] - 1} e_{\lambda}^{y} \left(E[e_{\lambda}^{T}(z)] - 1 \right) \\
= \left(\frac{z}{E[e_{\lambda}^{T}(z)] - 1} \right) \frac{1}{z} \frac{e_{\lambda}^{y+1}(E[e_{\lambda}^{T}(z)] - 1) - e_{\lambda}^{y}(E[e_{\lambda}^{T}(z)] - 1)}{E[e_{\lambda}^{T}(z)] - 1} \\
= \left(\sum_{\rho=0}^{\infty} \beta_{\rho,\lambda}^{T} \frac{z^{\rho}}{\rho!} \right) \frac{1}{z} \sum_{\mu=0}^{\infty} \left(\mathbb{B}_{\mu,\lambda}^{(*,T)}(y+1) - B_{\mu,\lambda}^{(*,T)}(y) \right) \frac{z^{\mu}}{\mu!} \\
= \left(\sum_{\rho=0}^{\infty} \beta_{\rho,\lambda}^{T} \frac{z^{\rho}}{\rho!} \right) \left(\sum_{\mu=0}^{\infty} \frac{\mathbb{B}_{\mu,\lambda}^{(*,T)}(y+1) - \mathbb{B}_{\mu,\lambda}^{(*,T)}(y)}{\mu+1} \frac{z^{\mu-1}}{\mu!} \right) \\
= \sum_{\rho=0}^{\infty} \left(\sum_{\mu=0}^{\rho} \binom{\rho}{\mu} \frac{\mathbb{B}_{\mu,\lambda}^{(*,T)}(y+1) - \mathbb{B}_{\mu,\lambda}^{(*,T)}(y)}{\mu+1} \beta_{\rho-\mu,\lambda}^{T} \right) \frac{z^{\rho-1}}{\rho!}.$$
(3.5)

From (3.4) and (3.5), we discover the claimed equality (3.3).

4. Conclusions

In recent years, probabilistic special polynomials and numbers such as probabilistic Bell, probabilistic Fubini, and probabilistic Stirling numbers and polynomials associated with random variables have been defined and studied in detail. In this work, we have considered a probabilistic degenerate Jindalrae-Stirling polynomials of the second kind and a probabilistic degenerate Jindalrae polynomials. Then, we have derived some of their properties and formulas, including explicit expressions, symmetric identity, recurrence relations, and summation formulas. Moreover, we have investigated diverse correlations with the probabilistic degenerate Stirling numbers of the second kind associated with T, the Stirling numbers of the first kind, the partial Bell polynomials, the derangement polynomials, the degenerate Bernoulli polynomials of the second kind and the degenerate Euler polynomials. Finally, we have defined probabilistic higher-order degenerate Bernoulli and Euler polynomials and then provided some properties and relations.

References

- [1] J. A. Adell, Probabilistic Stirling numbers of the second kind and applications, J. Theor. Probab. **35** (2022), 636–652.
- [2] J. A. Adell and B. Bényi, Probabilistic Stirling numbers and applications. Aequationes Math. 98 (2024), 1627–1646.
- [3] J. A. Adell and A. Lekuona, A probabilistic generalization of the Stirling numbers of the second kind, J. Number Theory 194 (2019), 335–355.

- [4] N. Alam, W. A. Khan, S. Araci, H. N. Zaidi and A. Al Taleb, Evaluation of the poly-Jindalrae and poly-Gaenari polynomials in terms of degenerate functions, Symmetry 15 (2023): 1587.
- [5] L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, Utilitas Math. 15 (1979), 51–88.
- [6] L. Chen, D. V. Dolgy, T. Kim and D. S. Kim. Probabilistic type 2 Bernoulli and Euler polynomials, AIMS Mathematics 9 (2024), 14312–14324.
- [7] L. Chen, T. Kim, D. S. Kim, H. Lee and S. H. Lee, *Probabilistic degenerate central Bell polynomials*, Math. Comp. Model Dyn. **30** (2024), 523–542.
- [8] A. Karagenc, M. Acikgoz and S. Araci, Exploring probabilistic Bernstein polynomials: Identities and applications, Appl. Math. Sci. Eng. Accepted for publication, (2024).
- [9] W. A. Khan, M. Acikgoz and U. Duran, Note on the type 2 degenerate multi-poly-Euler polynomials, Symmetry 12 (2020) 1–10.
- [10] W. A. Khan, A. Muhyi, R. Ali, K. A. H. Alzobydi, M. Singh and P. Agarwal, A new family of degenerate poly-Bernoulli polynomials of the second kind with its certain related properties, AIMS Mathematics 6 (2021), 12680–12697.
- [11] D. S. Kim, T. Kim, S.-H. Lee, and J.-W. Park, Some new formulas of complete and incomplete degenerate Bell polynomials, Adv. Differ. Equ. 4 (2021): 326.
- [12] T. Kim, A note on degenerate Stirling polynomials of the second kind, Proc. Jangjeon Math. Soc. 20 (2017), 319–331.
- [13] T. Kim and D. S. Kim, Some identities on truncated polynomials associated with degenerate Bell polynomials, Russ. J. Math. Phys. 28 (2021), 342–355.
- [14] T. Kim and D. S. Kim, Degenerate zero-truncated Poisson random variables, Russ. J. Math. Phys. 28 (2021), 66–72.
- [15] T. Kim and D. S. Kim, Probabilistic degenerate Bell polynomials associated with random variables, Russ. J. Math. Phys. 30 (2023), 528–542.
- [16] T. Kim and D. S. Kim, Probabilistic Bernoulli and Euler polynomials, Russ. J. Math. Phys. 31 (2024) 94–105.
- [17] T. Kim and D. S. Kim, Probabilistic derangement numbers and polynomials, arXiv:2401.03986v1 [math.PR] (2024).
- [18] T. Kim, D. S. Kim, L.-C. Jang and H. Lee, Jindalrae and Gaenari numbers and polynomials in connection with Jindalrae-Stirling numbers, Adv. Differ. Equ. 245 (2020) 1–19.
- [19] T. Kim and D. S. Kim, J. Kwon, Probabilistic degenerate Stirling polynomials of the second kind and their applications, Math. Comp. Model Dyn. 30 (2024), 16–30.
- [20] T. Kim, D. S. Kim, H. Lee and L.-C. Jang, A note on degenerate derangement polynomials and numbers, AIMS Mathematics 6 (2021), 6469–6481.
- [21] S. H. Lee, L. Chen and W. Kim, *Probabilistic type 2 poly-Bernoulli polynomials*. Eur. J. Pure Appl. Math. 17 (2024), 2336–2348.
- [22] D. Lim, A note on the fully degenerate Bell polynomials of the second kind, Contr. Discret. M. 17 (2021), 13–30.
- [23] L. Luo, T. Kim, D. S. Kim and Y. Ma, Probabilistic degenerate Bernoulli and degenerate Euler polynomials, Math. Comp. Model Dyn. 30 (2024), 342–363.
- [24] S. Roman, The Umbral Calculus, Pure and Applied Mathematics 111, Academic Press, New York, 1984.
- [25] S. M. Ross, Introduction to Probability Models, Twelfth edition of Academic Press, London, 2019.
- [26] R. Soni, A. K. Pathak and P. Vellaisamy, A probabilistic extension of the Fubini Polynomials, Bull. Malays. Math. Sci. Soc. 47 (2024): 102.
- [27] R. Soni, P. Vellaisamy and A. K. Pathak, A probabilistic generalization of the Bell polynomials, J. Anal. 32 (2024), 711–732.
- [28] B. Q. Ta, Probabilistic approach to appell polynomials, Expositiones Math. 33 (2015), 269–294.
- [29] R. Xu, T. Kim, D. S. Kim and Y. Ma, Probabilistic degenerate Fubini polynomials associated with random variables, J. Nonlinear Math. Phys. 31 (2024): 47.

PROBABILISTIC DEGENERATE JINDALRAE AND JINDALRAE-STIRLING POLYNOMIALS 961

Manuscript received May 26, 2024 revised September 17, 2024

W. A. Khan

Department of Electrical Engineering, Prince Mohammad Bin Fahd University, P.O Box 1664, Al Khobar 31952, Saudi Arabia

E-mail address: wkhan1@pmu.edu.sa

U. Duran

Department of Basic Sciences of Engineering, Faculty of Engineering and Natural Sciences, Isk-enderun Technical University, TR-31200, Hatay Turkiye

 $E\text{-}mail\ address: \verb"ugur.duran@iste.edu.tr"$

N. Ahmad

Mathematics Department, College of Science, Jouf University, Sakaka, P.O Box 2014, Saudi Arabia *E-mail address*: naataullah@ju.edu.sa; nahmadamu@gmail.com